World War 2 Area and Anderson Shelters
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L.I  I can find the area of a shape and solve area problems.
1 a) An Anderson shelter measures 3m by 4 m.  How much space does it take up in the back garden?



1 b) I would like to put in a bench down one side to sit on during an air raid. It needs to be 4m long and 1m wide. Draw this onto your diagram and calculate how much floor space will be left after I install the bench. 


2. Draw these gardens with an Anderson shelter positioned inside each garden. Use 1cm for each m. There is squared paper provided in the folder if you have a printer, if not use blank or lined paper. 

a) 5m by 7m with a 6m by 2m Anderson Shelter.

b) 3m by 6m with a 4m by 1m Anderson Shelter and a 2m by 2m vegetable patch.

c) 6m by 6m with a 4m by 3m Anderson Shelter and a 1m by 1m outside toilet.

3 During WW2, gardens were used to grow more food because of rationing. Here is a plan of my garden. 

Draw in as many of the following items as you can to maximise the amount of food that can be grown. Don’t forget to include your Anderson shelter! 

Within each part, include the total space it takes up. Remember to include a path to get to the vegetables, there needs to be access at least one side of each vegetable patch. 
Anderson shelter- 3m by 4m, potato patch- 5m by 5m, carrot patch- 2m by 6m, compost area- 1m by 1m, cabbage patch- 3m by 2m, parsnip patch- 3m by 2m, onion patch- 5m by 2m, pea patch- 4m by 4m, pumpkin patch- 4m by 5m. 
EXTENSION – Design your own using all the available space – see plan.
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